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If y = [si * h o Lo
y = |sin x| + |cos x|, then T atx = 3 s
—3+1 NEES! J3
2 3) 4y
(1) 0 (2) > (3) > (4) 5
d
If y = x*, then H}i= 8 el o

(1) x*(1 +logx) (2) x*(1 —logx) (3) x*(logx—1) (4) x*logx

cos X dy
If y = tan' ————, then the value of ===
1+sinx dx
() =172 _ ) 12 3) x/2 (4) —x/2
. i : dy T,
If x =a (cos 6 + 0 sin 0), y = a(sin © — 0 cos 0), then the value of & at 6 = 1 is
2 . 3
(1) 0 @ 7 (3) 1 BCRNE]
Given the function f(x) = x> e, x > 0. Then f(x) has the maximum value equal to
(1) e? (2) (2e)! : 3) ¢! (4) None of these
If the curves ay + x> = 7 and x* = y cut orthogonally at (1, 1). Thena=___
(1 (2) -6 (3) 6 4) 0

The maximum possible area that can be enclosed by a wire of length 20cm by bending
it into the form of a sector in sq. cm is

(1) 20 sq.cm (2) 25 sq.cm (3) 30 sq.cm (4) 15 sq.cm
Ifu= ey d if X@+ @--ku then k = vt

u= v gnd i X )’8y sy A f Lk
iy (2) -3 3) 2 (d)-=1
If z=e™ " - f(ax — by), then the value of b(:z+aﬁ Bl e v L

ox

(1) abz (2) 2abz (3) 3abz (4) 4abz

Sin X — cos X

dx =
\/sin2x

(1) —cosh™! (sin x + cosx) (2) —cosh™! (sin x — cos x)

(3) cosh™! (sin x + cos x) (4) cosh !(sin x — cos x)







ANSWERS

1) 2) 4 3) 1 4) 5) 1
6) 7) 2 8) none 9) 10) 1
1) 12) 2 13) 3 14) 15) 1
16) 7y 2 18): 2 19) 20) 1
21) 22) 1° 23) 2 24) 25) 2
26) 27) 2 28) 3 29) 30) 4
31) 32) 2 33) 3 34) 35) 3
36) 37) 2 38) 1 39) 40) 3
41) 42) 3 43) 2 44) 45) 2
46) 47) none 48) 1 | 49) 50) 4
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For an object thrown at 459 1o the horizotal, the maximum height (H) and horizontal range (R)

are related as ( )
(I)R=16H (2)R=8H

(3)R=4H (4))R=2H

At the uppermost point of a projectile, its velocity and acceleration ae at an angle of ()
(1)0" (2) 459

(3) 90" (4) 180°

A particle A is dropped from a height and another particle B is projected in horizontal direction
with speed of 5 m / sec from the same height, then correct statement is ( )

(1) Both particles will reach at ground simultaneously

(2) Particle A will reach at ground first with respect to purlicfé B
(3) Particle B wilkreach at ground first with respect to particle A
(4) Both particles will reach at ground with same speed

» . . - - . - 5 . . - ’ ~ 2
A missile is fired for maximum range with an intial velocity of 20 mys. If g = 10 m/s~, the range

of the missile is ( )
(1) 20 m (2) 40 m
(3)50 m (4) 60 m

A body of mas 2 kg is kept stationary by pressing to a vertical wall by a force of 100 N.
The coefficient of friction between wall and body is 0.3. Then the frictional force is equal to

()
(1) 6N (2) 20N
(3) 600N (4) 700 N
It the normal force is doubled. then coefticient of friction is ( )
(1) Halved . (2) Tripled
(3)Doubled (4) Remains same

A body moves a distance of 10 m along a straight line under the action of a 5 N force.
If the workdone is 251, then the angle between the force and direction of motion of the body is

()
A1) 60° (2) 75°
(3) 30 (4) 45"
Two bodies of mass m and 4 m are moving with equal kinetic energies. The ratio of their linear
nmomenta is ’ ( )
<(1y1:2 (2)1:4

(3)4: 1 4 1:1
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If the kinetic energy of a body becomes four times of its initial value, then new momentum will

)
(1) Become four times its initial value (2) Become thrice its initial value
(3) Become twice its initial value . (4) Remain constant
It a spring has time period T and is cut into n equal parts, then‘the time period of each part will
be . ()
(D Tvn ) 1/vh
(3) nT 4) T
In a simple harmonic oscillator, at the mean position ( )

(1) Kinetic energy is minimum, potential energy is maximum
(2) Both Kinetic and potential energies are maximum
(3) Kinetic energy is maximum, potential energy is minimum
(4) Both Kinetic and potential energies are minimum

Source of sound and observer are moving towards each other, the observer will hear ¢

(1) High Frequency, High wavelength (2) Low frequency, Low wavelength

(3) High Frequency, low wavelength (4) Low frequency, High wavelength

The two waves of the same frequency moving with same speed in the same directior
give rise to (

(1) Beats (2) Interference

(3) Stationary waves (4) Diffraction

The ratio of frequencies of two pendulums are 2 : 3, then their lengths are in the ratio (

() V2/3 (2) \3/\2

(3)4/9 (4)9/4

The first law of thermodynamics confirms the law of (
(1) Conservation of momentum of molecules

(2) Conservation of energy

(3) Flow of heat in particular direction

(4) Conservation of heat energy and mechanical energy

A sample of gas expands from volume V, to V, . The amount of work done by the gas
greatest, when the expansion is [

(1) Isothermal (2) Isobaric

(3) Adiabatic (4) Equal in all cases
During adiabatic compression of a gas, its temperature

(1) Falls (2) Remains Constant
(3) Rises (4) Becomes Zerc
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68. A gas behaves as an ideal gas at
(1) Low pressure and high temperature (2) Low pressure and low tempera: -
(3) High pressure and low temperature (4) High pressure and high tempera.--
69.  In photoelectric effect, the KE of electrons emitted from the metal surface depends upor

(1) Intensity of light (2) Frequency of incident light
(3) Velocity of incident light (4) Both intensity and velocity of ligh

70.  The propagation of light through an optical fiber is due to ( )
(1) Polarization of light (2) Rectilinear propagation of light
(3) Total internal reflection of light (4) Interference of light

71. [ML:TQ] are dimensions of ()
(1) Force (2) Moment of force
(3) Momentum (4) Power

72.  Out of the following pairs, which one does not have identical dimensions ()

(1) Moment of inertia and moment of a force (2) Work and torque
(3) Angular momentm and Planck's constant (4) Impulse and momentum
73.  If the magnitudes of two vectors are 3 and 4 and their scalar product is 6, the angle between the

vecotrs is ()
(1) 30 - (2) 45°
(3) 60° (4) 90°

74.  The value of A in the unit vector 0.4i + 0.8 + L k is ( )

(1) (0.12) 4 @) (02) 4
3)(0.4) (4) (0.8)

75. Vector product of a vector with itself is ()
(H1 (2) -1
(3)0 (4) o
2131 52,3 | 53 ] 54. 2 | 55. 2 | 56 4 { 57 58. 1 59. 3 | 60. 2
61. 3 | 62.3 | 63.2 | 64.4 | 65. 4| 66.2 | 67. 3 68. 1 69. 2 | 70. 3
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The first emission line of hydrogen atomic spectrum in Balnier series appears at (R = rydberg
constant) ( }

(1) SR/36 cm™! (2)3R/4 cm!

(3) 7R/ 144 cm™! (4) 9 R/ 400 cm!

Which ion is iso electronic with 'CO' ? (Y
(DN, 7 2) 05"

(3)0, "~ (4) CN "~

‘Why ;odum chloride is more soluble in water ? ( )

(1) Sodium chloride is a covalent compound and water is a polar soivent
(2) Sodium chloride is a ionic compound and water is a polar solvent

(3) Sodium chloride is a covalent compound and water is a non - polar soivent
(4) Sodium chloride is ionic compound and water is a non - polar solvent

What happened to a solution when a non - volatile solute is added to a solvent ? ¢ )
(1) Vapour pressure decreases (2) Vapour pressure increases

(3) Boiling point decreases (4) No change in vapour pressure ‘
How much volume of 0.1.M H, SO, solution is required to nuetralize completely 50 ml of 0.2 N
NaOH solution ? "k )
(1)25 ml (2) 50 ml

(3) 75 ml (4) 100 ml S

What is the conjugate base of OH ~? (s}
() H,0 (2)H,0"

(3)0" " 427

10 ml of 0.05 M H, SO, is diluted to.100 ml with water. What is the pH of the resultant
solution ? “ )
(1) 2.0 - (2) 1.0

(3) 2.3 (4) 2.7

Which type of ores are purified by using Froth floatation method ? )
(1) Oxide Ores * *(2) Carbonate Ores

(3) Sulphide Ores (4) Sulphate Ores

What is the metal present as major constituent in nichrome alloy ? (L)
(1) Cr (2) Ni

(3) Cu : (4) Fe _

When one Faraday of electrictity is passed for CuSO 4, solution, how much copper is deposited
a cathode ? (Atomic weight of Cu = 63.54) ( )
(1) 63.54 g 2)31.72 g

(3) 15.86 g (4) 127.08 g







